11 1)
o) f(2)=22=4

(
B f(
Y F(-1)=(-1) =1
8 f(-2)=(-2) =4
g) f(a+1)=(a+1) =0*+20+1
or) f(2a-3)=(20-3)" =4a® —12a+9
0 f(3a+1)=(3a+1) =9a> +6a+1
n) f(20+3)=(20+3)" =40 +120+9
0) f(6a—1)=(60—1)°=360>—-12a+1
11 2)

B) f(3)=2-3-3.3+1=18-9+1=10

(
v f(-1)=2-(-1)"-3-(-1)+1=2+3+1=6
5) f(-2)=2-(-2)"-3-(-2)+1=8+6+1=15
(

20° +40+2-30-3+1=20"+a

o) f(20-3)=2-(20-3) -3-(20-3)+1=2-(40’~120+9) - 60 +9+1=
=8a® — 240+ 18— 60 +9+1=8a® — 300+ 28

0 f(3a+1)=2-(3u+1) =3-(3a+1)+1=2-(%9 +60+1)—9a—3+1

=180 +1200+2—-9a—3+1=180° + 30

1.1 3)
o f@)=_5
p =5
n t0)=_5
o f(-4)= 5
o f(0)=_5
1.1 4)

@) f(l+h)=2(1+h)+1=2+2h+1=2h+3



f(1+h)=2h+3
£(1)=21+1=3

B) f(1+h)-f(1) = 2h+3-3=2h
)_f (1) f(1+h)—:f(1)=2h@ _y
h h
8 f(-2+h)=2(-2+h)+1=-4+2h+1=2h-3

f(~2+h)=2h-3
f(-2)=2(-2)+1=-3

g) f(-2+h)-f(-2) =  2h-3-(-3)=2h-3+3=2h

f (_2 + h) —f (_2) f(—2+h)—_f(—2)=2h 2h B
h - h

1.1 5)
) f(l+h)=(1+h)’ =3(1+h)+1=1+2h+h?~3-3h+1=h*~h-1
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oT)

f(L+h)=h?-h-1
f(1)=12-31+1=-1

B) f(1+h)-f(1) = h?—h-1-(-1)=h’-h-1+1=h>—h

f(1+h)—f (1) f@n-f@r-np2_p i (h-1)
) ——= = =
h h A
5) f(-2+h)=(-2+h) -3(-2+h)+1=4—-4h+h?+6-3h+1=h*-7h+11

=h-1

f(-2+h)=h?-7h+11
F(1)=(—2)"-3(~2)+1=4+6+1=11

g) f(-2+h)—f(-2) - h?—7h+11-11=h?—7h

f(-2+h)—f(=2)fC2nA2=nnp2_7h K (h-Th)

= =h-7
oT) . . I




